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Bboklet Set-D No. :

Instructions : :
1. Do not open this booklet until you are instructed to do so. 6 2 7 8 4 0
2. Use of calculator, mobile phone or any other electronic device is strictly NOT allowed. '

3. Carefully fill-in your correct Roll Number and correct Question Paper Booklet Series in the OMR Answer sheet and darken
the corresponding bubbles failing which the OMR answer sheet may NOT be evaluated.

4. Handover the OMR answer sheet to the invigilator after the examination is over.

5. The question paper comprises of TWO PARTS : In PART-A there are 50 multiple choice questions and in PART-B there
are 100 multiple choice questions. Select the right / appropriate choice from the options given in each question. Each
correct answer will carry one mark. Maximum marks for the PART-A are 50 and for PART-B are 100.

6. There is NO NEGATIVE marking in PART-A of the question paper. However, there is NEGATIVE marking in PART-
B of the question paper and 0.25 marks will be deducted for each wrong answer.

7. Time limit for the test is 2% hours (150 minutes).

8. Do not fold / spoil the OMR answer sheet. Do not make stray marks on the OMR answer sheet.

9

1

. For rough work, the space marked ‘Rough Work’ at the end of question booklet may be used.
0. OMR Answer Sheet is not to be taken out of the Examination Hall. Any candidate found doing so would be expelled from
the examination and the matter will be reported to the police.
11.Kindly check your question booklet and OMR answer sheet before starting answering. Make sure that no page or question
is missing from the question booklet or the OMR answer sheet is damaged. If any defect is found in the question booklet
or OMR answer sheet, the same should be got replaced from the invigilator within 10 minutes of the start of examination.
12. Please note that the paper is bilingual, hence efforts have been made to translate in Punjabi language from the original
paper which was finalised in English language first. In case of any doubt in Punjabi version of the paper, candidates are
expected to look into the English version of the paper which shall be considered as final for the evaluation purpose.
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PART - A

10.

1L

12.

13.

14.

T 7 SIS @ wae T 95 fofimit fed faoa Aee e A Hae 37

a) I b) faawdt

c) H58 d) 3z

IS 7 AT @ wagt T 35 ffumt fed frgaT mee e AT AT & ?

a) HAAS b) gIg

¢) BImard d) sefamz

A3 D 9IS A FE A vyrE e vaE I
1) AR sRER e nlaz I goarda Age

b) éa’r-éa’tmﬁaééaaamffdwv\

c) PHfent T aafrggfen s desed
d) g der 2t Jarseser d

feran fidgt @ WY I3 ffimit fed faoa o fasas mat 39

a) IH TR S I9 &S e aafent faTr, “AI IA uEt ga A ey
.b) IH A S Ja &5 foma aafent faTr, «d9, ISy sg A Are”
¢) IHIR S Ig &S g Fafent faar, “AI IA Ut g A A
d) IHR & I9 &3 fomar axfent Ao &9, “IS-ust ga A 7
‘IR faze B gua fomr Al T T HY waew wgee 3

a) Gurvinder has gone to the market to buy a book. X
b) Gurvinder was gone to the market to buy a book.
¢) Gurvinder had gone to the market to buy a book.

_d) Gurvinder gone to the market to buy a book.

it feg Wis 2 A Je” ya=I T IE I

A T IHB IGer oS T waE T :
2) HOH T HH HE AE

b) IIHI HS™ T HE AT

Fe g "3 it STa” HT=I T EE I
a) fHad J@SIgAmge
. b) faA 2 A3 a9 T A Wy e
Figmrfan” FEe @ fewragsa uss 3

a) g3 Ug3gT b) fast a5 T

a) feoeos eRsR e b) Sg<os ufar

‘FI’ AEE O foNaSsd UgTE S

a) feaTos RASSH a1 b) Hgeos ufdar
2 " aHs U g FuEiy ge & filg O He few g3 8a § wruet sersinis @ it R BER R e

feu fraeos Rt 2 fdS sle w2 95 2
“a) YA b) 8

¢) gE-HETIT d) Ao g=s B8 IT

¢) B IF W few 35t fednsr s B
d) SIS T WEAT B3 AET

¢) EMTH IH II&
d) 1S & sarar IH ags"

c) fea=gs ufdar d) =g<Ts feRzst f&ar

‘c) feaeas ufdar d) gg<Ts foRsdt Bar

¢) H3 d) »is

U, 9w, i, 83, WY, Jara 3 I9 UF' o st gw e & A e s N & i ea e fid s

TR AR R R MR TE?
2@ b) #3
‘A7’ nEe o fovadad UBE 9 :
a) feaeos yida nH ate
-b) HgROs Y¥ar fds Toa ot
S5 pEE @ foNgdad UgE J :
a) feaes yfdar wH afe
! v) ggees krsd b en3 Toa ot

c) WS d &

¢) feaeos fwzd fier wi a'e
d) feawes yfdar ge eoa &t

¢) HYTUs fewzdl fiar oy &t
d) fazes yida e Toa ot
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15, ufost A wil-wmnug fegrg Jwed fag Y wudt 3t arfe femtar it vt e piera wisrd o
w3 fsHegd uaste &t ugE a3
\ a) A, WyEt b) Wril-nmyE, a8 v c) ad, wa ) d) as,»n

16. frga 38 2 fon Sa1 & vee 39T, OF 75 @ @ Hga dtzr Arear A R 78 3 o & e Tra fre
FHTI Heuega W3 wiifsHoToa ugsie S ugre ad

. a) g, a8 b) fra, &1 c) a@,eg‘ d) fraa, &5
17. %Wﬁé@ﬂﬁa@ﬁ@?#mﬁ?nﬁmmﬂﬂmﬂé:
a) 99 FEor J fa A Grer gar &t &tz ¢) T ATHYIPIT I
".b) dar sz der & i feg she d) I R famr 3
18. 35 ffimit fed GR gy § 98 A Aee-AFt w3 T gEsg W Rt 3
*a) I WIFIAIA T ¢) Rdsfoeaed: «
b) GRS NI TS wigS TT B, d) it wiet fre wiarg wr famr |,
19. I3 Bftmit o fagar Aee WY WRISI WeRI At I :
a) wysgE b) wyardt « €) WUFH d) wuf¥zg
20. I Bt fed faoz ree He' B3I wgRa Rt &t 3 :
a) IHIHE b) sHIEE c) IBHHT d) Wsse

2. “FFRUGTIM gE3 s I3’ T AT I !

a) IgJAfde fiiwd®  b) I FEHI A ¢) JgooaeTH d) 3 Sfeem @
22. g dju wfod feo gg 391 ST A i guaT @ et 3

a) 59 FEE 357 A8d b) 57 AEE 3 59 ABA c) 56 HEE 3 59 ASY d) 59 HEE 3 59 A3
23. Jgdfde iy IRt eafode .

a) e b) ferat c) frAavat vd) fordt 3 faat
24. ‘HEHI3, HTHAB, a9, 337 AYT € AHGIE 3
a) IVas © b) agu c) Hed d) 9fs
25. ygWeRAIFIgqEAfskedweeifs_ vifaz os|
a) HEE b) Wi . ¢) Hd d) T
26. “¥I8 38 Y UsE I TR g Ofg 35T I AA B fan & Iuer -
1 a) g e fity b) 3913 FET ¢) Ig 39 Haed d) Ig 5aa W

27. wibeys wige € AEe fan gg < i andt
a) ggIRfefwd .b) Jg3mewead o) Jgoidfie®  d) Jgoe TR
28. AR I €t 2 3 @8 wandiE feadt I .

a) ITH b) AEE K c) T ¢ ~d) gat
29. UrH I & ge § ifas 99 @ fsua 95

a) W,0,8,3,T b) 7,3,7,9,3 ¢) 9,3, W, 9, o d) LH, 9T, T
30.  Jrreh o saryet € faredt 3

a) € + b) & c) 99 d) Jw
31, ‘HoA Jfae’ fan fand & AHAl REe D

. a) 5T+ BT b) &' + fenmE c) &'T + fafawr + fafawr  d) Redws + fedws

32. “BHS' B fedn 7 faga 3 ‘

a) faer ‘b) T ¢) ¥ d) wedR
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33. “ITE HIJUIT =G FHIT" |
g g wisfa GREM
s HwR seg § Al
a<g § fgg=fe sfowr mrfie 1
A3 faw =t Ewt g%
o/a) AUH Afoe b) Szl Grlarg . ¢) filg dmfe d) v €t =g
34. Agonise HEE €' garet Urrst gu 3«
a) IHE b) It ¢) IFH d) IFegE
35, ydis a6 9 Une § 2 on fag faor mter it
~3) SITEBETIS  b) STIJARTIS ¢) da fifae aags d) Gavgzaas
36. faaoitdinz gerd.
a) TR A 3 57 A widt ) Rt e 3 60 7 i
b) RS RS 3 59 A it d) fordt s 3 62 A wid
37.  feman fgt @ W Js fafimit fed foroar ot fasas At 32
a) ‘N Gftar 3§ A W3 €37 Sfifes & Ufenm 5 ¥ wrd wig 1 Affeg e Gaa it «
b) “W €t 3§ =R wiF €31 Sfifea & Ufenm &t ¥ wid wig 1 wffes & @39 7
- o) “ﬁ@aﬁ?é{sénnﬁ@@%ﬁfea?;%»ﬂﬁﬁﬁmﬂmﬁrnﬁeaw??aml
d) N Gt 3§ & w3 €3 it & Ufenm ot A v wrg ¢ Afdes & @39 7t
38. ‘T HI foFle o= fr fodie e neE 9
a) THIS I b) A & c) o gmiger 'd) gEs T T IT
39. ILEF’ T 389 fan fowa feg Hafmr Aier S .
\a) WS feg b) W& feg ¢) ymm feg d) A3 A" few
40.  fAG= Az Ure 2 fon 939 58 AEfUS da-ahe 9
a) HgT 'b) HEe ¢) ymg d) over
41.  I5 fBfimi fed faast Qusmr yast vA feg &<t S8t At 2
a) ynrat b) WSt c) et « d) AIfEt
42. RUTSISUYSED:
a) st v ‘b) ITR C) IS IBHA d) gueFist
43.  Urst @ fan Qusm few Un aRE! fenins Hige 9%
a) Wt " b) HE=E c) ot d) Yyt
44.  UFEIEE AGH-A3 I
a) HAfGZ b) fdet v c) ot d) wast
45.  A3gAW3 A efgwet @ freard At AE TH I I )
a) wafeat b) ynrt ¢) g d) gnrsit
46, It faga Ba arfe-gu fdzr famrd 2
efJalt @3 =fdaft wr
Ja g ot @ R fraaht Yzt 3 wfdalt wr
‘a) I b) & ¢) de d) Hdor
47, Iz fofint fad fagar gad e i adt 2
a) TIHH b) aur o ‘ ¢) U8 d) dax
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4‘
‘/
48 TASTTE S IAN ____ Sgemitas
a) gnr b) 3= c) ITHAEMt «d) nigEgmrae
4.  ffRIATTuWe E3Aest w9
a) b) €€€ ' ¢) E9T d) €xc
50. I3 fafimit fed faa? waifent e ida ree I3 &5 9
.a) WE-IIF b) AS-ITF . ¢) 93—AY . d) AgE3< ¢
PART - B
'a She been to America, has she? Choose the appropriate verb.
a) hadn’t b) hasn’t c) haven’t d) has

‘9 Select the word which is closest to the opposite in meaning of the underlined word.
It is not difficult to take note of his immaculate style of writing.

a) impeccable b) unsullied c) exquisite d) flawed
3. Translate the below sentence into Punjabi and choose the correct option.
The most useful training of my career was given to me by my boss.
a) NI 2 "G NS ST & A9 I Quuidht frusdt @ faar 3|
b) AT S/ NS N IS & A I Guuieh g e 3
<€) N3 TSI & A T Guh findsmel 1§ 1S S enrer S5 ardt A |
d) AS" 2R NS A3 FIMT & 7Z I QUi fingsmd 2 foar 3|
4. &I9, ToT, i, =, A, Ao, do77, W AN R FU Y I6
a) &fJg, Fefast, Wi, A, A, Ag7, o7, Tua |
b) &J9, FBfat, iy, =, 7, Ao, fag=, Jaa |
¢) &33, FBfah, ihw, A, 7, v, dg=, dog |
o d) &g, sefadh, Uiy, 3, Ad, frow, faga, ufaa |

5. HaBHuzer 3|

T & vy fafanr faaft 3 2

a) Ha" -b) wger c) wIT d) 3
6. wefowfonr Aee RS R39TE |

a) foor b) fenrg . €) WE d) famr
7. ‘FoA AEE & vAsT fagar a2

a) o9 'b) c) wr d) o
8. ‘HeRe Hee fan §8 o8 Hefg 9

a) MH&T .. b) ITTTIFT ¢) fedsToaaw d) TSR3 THa s
9. er 3t § fagre iE Ta few @Ry 9

~ a) feaeus, 393, YISy UTae ¢c) feaeus, agz, fondeod ugate

b) feaeTs, 99H, YyauTo! UTaT
10. ovemr T Rsd Ba .

, a) ©VEE b) enrEt c) g d) gvrfemr
1. wFfyst '3z YIS T ITNIH I
a) TEITHYS s e *b) HIs fawd IEr ¢) Faeugs d) fanrd fed ot e
12. ‘IOl T fedugua HEE I
a) 89 b) Sgwarg ¢) wardt " d) Wt

i d) yfda, fameeres ugate ¢
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gat
Lo
4
‘/
48 TIASTE S IAH I ds |
a) gvr b) 3 c) It +d) wEE.gmraEt
4.  eXfedREg nwer @3IFEst_ w8
a) Tex b) €€€ ‘' ¢) €9¢ d) €xc
50. I3 fefimit fed fao walifow er AEO ARe d3 58 3
.a) WH-I3S b) RS-TT X ¢) B3THY . d) @3¢ ¢
PART -B
She been to America, has she? Choose the appropriate verb.
a) hadn’t b) hasn’t c) haven’t d) has

Select the word which is closest to the opposite in meaning of the underlined word.
It is not difficult to take note of his immaculate style of writing.
a) impeccable b) unsullied c) exquisite d) flawed
3. Translate the below sentence into Punjabi and choose the correct option.
The most useful training of my career was given to me by my boss.
a) NI 27 N NS ama & 7S 3 Guuieh finvsrdt @ fagr 3
b) A9 =R N NI FIia & AZ I Guuh frvedl féer 3 |
<€) NI IImE & A I Quutel findmel NG NI BR gnrar &3t andt At
d) A9 SR N NS Fwg < 7 3 Guueh frvset @ faar 3 |
4, &9, IO, W, e, A9, Ao, S0, Yoo’ AEEt S HU gy 96
a) afgg, Fafadt, Ui, 3, A, AgT, faga, daa |
b) &I9, Fofadt, iy, sft, 7, AT, faozr, d99 |
) &39, sgfadt, Uy, s, 7d, faaar, doam, dag |
« d) 53, TBfh, by, A5, 7, frwar, fergar, uRoS |

5. ¥ETEmHwIEd |

= T v fafonr fagst 32

a) Ha -b) wzer c) wITrd d) 3
6. wEfrfanr ree RS fidsa g |

a) fonr b) fenrg . ©) WE d) fanr
7 ‘Fon’ HEE RT weiss faaar 32

a) o9 'b) g c) nr d) g7
8. ‘HEEr Aue faR @ o8 Hefg 3

a) WH &' .» b) seTTI T c) fdsTTaa= d) T3 TTA &
9. Ord gt § fazre 5t el feg @Ry 3

- a) feaTTs, IT37, yauTH UTs'E ¢c) feaews, a9, fanoToa uaste

b) fedeTs, I9H, yauedt ugste
10. ‘©weEr T A3 A 9
y a) evET b) et c) vy d) enrfamr
11. ‘Wi ust 3 I joed T Iengg I
a) WITHGI B IET  +b) WIS fama Jer c) FweugE d) frdt s o=t A
12. ‘IdNR T fdugeg ree S
a) 839 b) Bgwarg ¢) warEt ") v

o d) yfar, femeeraa uTste ¢
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m Iz fafimit fed fagar wae ‘QuanH3” © ANGTIEE &t 3

a) et b) fsamr ¢) g d) gt
h HIT WS HIE, A FEI B s A FTE T WIE I
a) I5F b) gne ¢) 3w d) agst
15. I3 ol mee Ayot fed o mee-Aat U Rt Y
a) oo, WAoo, fimileg ' ¢) MIT, warsel, fndferd
b) HaT', ¥arsdt, e d) HgT, varad, fimfrea
16. Which of the following command is NOT present in Quick Access Toolbar of MS Word ?
a) Draw Table + b) E-mail ¢) Print Preview d) Prepare
I Rodinit izt R farast antta e, €93 © giEE Wi goaa Re Age adt 3 2
a) I 2EG b) &-1% ¢) fifejife@ d) finag
17. Which one of the following is NOT an Operating System (OS) ?
a) Windows 10 b) Linux “¢) DOS d) MS Excel
fogst &d fagar fa Guafdar firren (0S) &t 3 ?
a) f&3710 b) SEEaIH c) & . d) ", WaRs
18. Which of these toolbars allow you to alter the fonts’ sizes ?
a) Standard *b) Formatting c) Options d) Design
fegs fRd fagar goaa 30§ 3¢ @ warg § HesT © feAms e d 2
a) ACIIT b) saAfdar ¢) GursH d) fawés

19. Which is the shortcut key to start a presentation in MS-Powerpoint from the beginning ?
WHR. weg Ynre ¥8, ggwr3 3 YACHS B 596 S8 Adede o faadt 3 2

» DF

a) F5 b) ALT+F5 c) CTRL+FS5 d) SHIFT+F5
20. Which of the following is NOT a social media platform ?

a) Facebook  b) Twitter ¢) Instagram < d) PayTM

et & faoz ARs Hidhr udceaH &4 3 2

a) SAYd b) eféeg c) frerH d) QS
21. The “S” in HTTPS stands for :

a) Selected « b) Secure c¢) Software d) System

HTTPS Rg*S” e naE 3 :

a) RBICT b) AaET ¢) Reewd d) firer
22, Which of these keys is not on the number keypad ?

fegst &S faodt St dag dlg 3 &t I 2

a) Ctrl b) Del ¢) Enter ~d) Num lock
23,  The higher the resolution of a monitor, the :

~a) larger the pixels are ¢) further apart the pixels are

b) less clear the screen is d) closer together the pixels are

foa Wtes & Qs frar da Jdar

a) fuams 65 & <3 IFd ¢) fuane 99 ga =

b) Fads G& & wfe arg I d) fuemes freld &3 =

P-1 Set-D Page -6



24.

In MS-Word, you can detect spelling and grammar errors by pressing the key(s) :

AR, €93 R, 3 vt eur a mifdar w3 fenwrargs Emit st eruzr sar maR 3 |
. a) Shift+F7 b) Ctrl + F7 ¢) Alt+ F7 d) F7

25. Which Sikh Guru and his bani (holy verse) is NOT correctly matched ?
a) Guru Arjun Dev ji — Sukhmani Sahib <~  ¢) Guru Nanak Dev ji — Asa Di Var
b) Guru Amar Das ji — Anand Sahib — Guru Ram Das ji — Akal Ustit
faga iy gg W3 B3 <t et (U39 T2l Aot 391 &8 NS &t el 2
a) g MIAG BT Al — TSt Ao ¢) Jgsaa ST -t Ty
b) TG wHITH Fl - wide Afa" d) IIIHEH it —wa's Grfsg
26. Mardana was the devoted Muslim follower and companion of which Sikh Guru ?
a) Guru Teg Bahadur ji ¢) Guru Arjun Dev ji
b) Guru Nanak Deyv ji d) Guru Gobind Singh ji
HITS f9H fifd TG T AHIUS YABHS WEWE W3 AE /2
a) AN TSIl b) IgFcI ST c) IgwIge W d) gz Ifde fitw
27 How many shalokas of Sheikh Farid have been included in the Adi Granth ?
wife 3 feg Ay odie @ & mBa wils I 7
‘a) 112 b) 118 c) 132 d) 122
28. Who amongst the following was not associated with the Gadar Party ?
a) Tarak Nath Das c¢) Vishnu Ganesh Pingle
b) Mauvi Baraktullah —d) Ganesh Srikrishna Khaparde
Js 5 S Az e wad &5 AEiu3 & At 2
a) IYIEETH & b) N HIEITT c) A fleld  d) W HfgEs yuS
29. ‘Doab’ word has been taken from which language ?
_a) Arabic ~B) Persian ¢) Urdu d) Hindi
NE HEE SR I 3 e famr 3 2
a) I b) 2SRt c) €3 d) f&=
30. Sutlej river enters the Shivalik hills at which of the following pla_ce in Punjab ?
a) Rupnagar b) Anandpur Sahib € Nangal d) Nurpur Bedi
A3ZH Tiowr Unre Kg Jo fendmr T fagat gt 3 faefea S ugrdvt g ens derd 2
a) guaIg b) wbeus wfag c) &% d) gIue S
31. Punjab constitutes how much percent area of the total area of India ?
UAE 9793 2 95 439es T fdar yFHs 939 3 7
“a) L5 b) 2.5 c) 3.5 d) 2.2
32. Sirhind canal originates from the river Sutlej at :
a) Rupnagar b) Sirhind c¢) Nangal “d) Talwara
Fafie sivg AIEH efowr ¥ R fsamdt 3
a) guUaId b) wafde c) &I d) 3BT
33. The Election Commissioner of Punjab is appointed by :
a) the Governor b) the Speaker -¢) the President d) the Chief Minister
A @ 9% afiiiad €t fogast de ager 9 ?
a) IS b) milag ¢) IR d) Yz
P-1
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34, How many seats are reserved for women in all Panchayats in Punjab at all levels ?

a) one fourth b) one-third c) one half d) no reservation for women

Uare €t Argnit Uerest Re Wast 88 g9 Uua 3 fdat it anudwt 75 9

a) fadmd b) = fsodt c) it d) Wg3* B8 A IJuTEIS 5t 3
35.  Which of the pairs is WRONG ?

a) Novelist — Nanak Singh ¢) Poetess — Amrita Pritam

b) Short Story — Sant Singh Sekhon d) Critic — Balwant Gargi

A RS feaTrasz 3 2

a) GBI -ToA W ¢) afeast - wifiEr sy o —

(O sy sTd - A3 A d) wded - g5z araat

36. Which of the following rivers is associated with the love-story of Sohni-Mahiwal?

a) Jhelum _-b) Chenab c) Sindh d) Ravi

RoE-HITS € QH Javet I ey 7 far efowr o gt 9d 3 2

a) AIBH b) &= c) fig d) &
37. Which ‘victory-dance’ is recognisable by swaying movements of the head ?

a) Dankara b) Julli q)ﬁjdi d) Sammi

forga g5 g 2 Rfoe o uerfenr i e 3§

a) JaT b) g 0) &H d) B

38. ‘Mera Rusi Safarnama’ has been written by :
2) Balbir Singh b) Prithvi/Ra;/K?poor Y)’{ﬁlj Sahni d/yﬁai Rea Singh

NS gH AegaH™ for gnrar fBfemr famr 3

a) g3E3 fiy b) fiEdIA YT ) S3IH AIS d) S8 I friy

39. Arrange the following important events in the history of Punjab in chronological order : ,

(i) Jallianwala Bagh Incident (iii) The Ghadar Movement f QT 1 Q' ) @

(ii) Kamagata Maru Incident (iv) Battle of Saraghari
A 2 faf3am S I fndhit HISRUTS Weae § S8 nigH's fRerfaa a3
(i) Afgwes gaas (i) Irea Bfag
(i) SIHTEIET H'g Wew (iv) A & s
a) (i), (i), (iv) and (iii) v6) (iv), (iif), (i) and (i)
b) (iii), (i), (i) and (iv) ! o) (iv), (iii), (ii) and (i)

40.  The famous Sikh leader Banda Bahadur was captured and executed during the reign of the Mughal
emperor ;

~———~2) Aurangzeb b) Bahadur Shah I ¢) Jahandar Shah d) Farrukh Siyar

Yo ffawg dergoedd _ 1Iw eng @ 9 S9'6 8F & gt [ andt i
a) Wdame b) HIEIHT | ¢) AOtEd WY d) eg fimrg

41. Which of the following is out of the purview of article 21 of the Constitution ?
a) Capital punishment ¢) Sexual Harassment of women at work place
b) Right to livelihood —) Right to life

Iz fofumt & faga fifens @ wgee 21 Refd Faagd?
a) M EmT b) SH-IA e nftad ¢) et INgste fa dEE  d) Fes e wftag
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42, For how much time a person who is not a member of cither House of Parliament can also be appointed as
a minister ?

HAT 2 faR & AEs T NET & It T8 fonadt § @ i Y 8@ 3R fogas @tz wr maer 32
a) 2 months (2 Hdt&)  b) 3 months (3 HAS)  ¢)-6 months (6 HRE)  d) 9 months (9 HR)

43. The Election Commission advises whom of the following on matters relating to the disqualification
of the members of state legislature ?
a) Governor b) Chief Justice of High Court ¢) Chief Minister dy Speaker
I feas AT € NETH & WUlas™ &8 REU3 Hifiowt 573 9 afims 35 fafimt R far g rsra Réer 32
a) IHUS b) IrEt age @ die Anfen c) Yooz d) mitag

44. What do we call the process in which no exchange of heat energy takes place between the gas and
the surroundings ? ’
a) Adiabatic b) Isothermal ¢) Isochoric d) Isobagic
wH @/ gt afde ot Re w3 wd-ewd @ frgad Iy Gaar T adl Teea &t gur I ?
a) efgnwrafes b) wEREIHS ¢) weEhRafaa d) weRefoa

45. The 'Greenhouse effect' is produced due to the presence of excess amount of :

— a) Sulphur dioxide b) Nitrogen dioxide c) Carbon monoxide d) Methane

Jeatrys= TR HIT R Age Jeaas derger d |
a) ASSI IEMIAEI b) SEIHG SENTAE T ¢) IS ASWEAEZ  d) Higs

46. Which among the following is the permissible noise level for residential areas for day time as
declared by Central Pollution Control Board (CPCB) ?
a) 55 Decibels b) 60 Decibels £)75 Decibels d) 90 Decibels
Jedl ygre fsr3aT 833 (CPCB) ©Wa BfiF3 i3 wgH'a fos @ M o8 faorfert 93397 56 #a e Uag
I B RF faazr I 2
a) 553HEs b) 60 =S c) 75 3HES d) 90 IHES
47. Which of these layers of the atmosphere consists of the ozone layer that is responsible for absorbing
the Ultra-Violet (UV) light ?
a) Troposphere b) Mesosphere c) Stratosphere d) Rotosphere
TPHIS it fegs Ugst &S fan 9 66 U3 It 3 1 wiear-oiede (G.31.) Indt § 7 996 38
a3
a) SUfAfeng b) WRfrfens c) ASfHfenE d) Jefrfena
48. Which country is the highest contributor of per capita greenhouse gas emissions ?
_4Y China b) USA ¢) Russia d) India
Y3t fena St Sfearen dt 2 fsarA 9 A9 3 30 thes U@ T er fagar 32
a) s b) whdiar ¢) gn d) 393
/ The Nobel Prize for Physics 2022 has been shared by three scientists, for their work in which field ?
a) Nuclear Physics b) Quantum mechanics ¢) Atomic science d) Space Science

333 fefamirs 2022 & &u8 yarard s fefamirdini gnrar fam 939 e @t @ ov o8t Aier dllar famee 3 2
a) fs@afena difqan  b) gnifen wafsan ¢) YIHE Refmrs d) y&7 fefomrs
50. What is the theme of the G20 summit happening in India ?

a) Shaping an Interconnected World "cra‘ne Earth-One Family-One Future
b) Fighting poverty with rigidity d) Making the world together
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a) wuyH fg g3 AAg § wrarg ' c) ffa uadt-ffa ufgea-ig sfdy
b) FETT & IS &6 BTG d) g&Mr & RS gl
51. Choose the incorrect acid-source pair ?
a) Citric acid — Lemon ¢) Oxalic acid - Ant sting
b) Lactic acid — Sour milk d) Methanoic acid — Nettle sting
B3 MHI-AII AT gE?
a) iz -fog ¢) GaRfsa WfiTE - st e
b) Bafea iz - ver g d) Nersfea Mg - Ses o dar ——

52. Which of the following is not a part of the flower ?
a) Petals b) Sepals c) Pistil d) Pericarp

foget & BT fdrradia?
@T(igjv by S e d) gy

53. A market structure domi;?d’by only a few firms is called :

a) Perfect Competition ¥ Monopoly c) Oligopoly d) Monopolistic Competition
mgsméemwmﬁéﬁvﬁ@&
a) HYIE HarEsT b) erfarg c) GFE d) garfaars yares”
54. Which Article in the constitution of India deals with the Annual Financial Statement ?
a) Article 111 /b/) Article 112 c) Article 123 d) Article 223

993 © Afeus T faua weee Age &3 fiws 573 Adfaz 3 2
a) WIS 111 b) WadEs 112 ) WIS 123 d) »adas 223
55. When too much money is chasing too few goods, the sityation is :
a) deflation b) inflation oL . /f eoession d) stagﬂation,(«
< 593 fimier Unr 593 ofe gt e filgr eer 3,
a) JeBHs b) YIRS d) ARR3HS
@ In which year Lala Lajpat Rai was deported to Mandalay for organising the agrarian movement in
Punjab ?
fom A8 &8 sAu3 98 § Unre g U3t witss AasE 596 88 WIS falge &3 fimr it 2
*a) 1905 b) 1907 c) 1909 d) 1911
57. The objective(s) of the Kuka Movement in the Punjab was/were :

a) To purify Sikh religion of its abuses and superstitions c) The revival of Khalsa
b) The revival of Sikh sovereignty d) Both (a) and (b)

A R gar sfag e/ @en fl/ 7o
a) Y T9H § fer S gafeeaat w3 winferert 3 Ho sga ¢) H3A € Y&3 RISt
b) e YIH3" T yosg garist S d) (w3 (b)eF

58. Which among the following acts is also known to be a beginning of the parliamentary System in India ?
a) Indian Councils Act 1892 c) Indian Councils Act 1909
b) Indian Councils Act 1904 -d) Government of India Act 1919

I35 foritit argereit D fom § 9793 e ARt Yoot & ggwrg e @ Arfewr e 9 2
a) fidwe SRS Wae 1892 ¢) i AR wae 1909
b) e IAs Wae 1904 d) 393 AT NEE 1919
59. Who among the following was the first Martyr of the Revolt of 1857 ?
a) Paltu Khan b) Issrel Pandey ¢) Mangal Pandey d) Amar Singh
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JIs for 5 1857 &t feedu v ufus e A= /o
a) UBgHS b) feAdE U ) WU d) g fify
60. The Bardoli Satyagraha was led by :

a) Rajendra Prasad b) Mahatma Gandhi ~ c)¥allabhbhai Patel ~ d) Morarji Desai

g8t Afanra]fa € warere! st enrar it andt i
a) IHedYAE b) WIS AT ¢) IBITEULH d) HTadt enst
61. Which Indian team won the Ranji-Frophy title in 2023 ?
a) Bengal /b’)ﬁ?:}ft'ra c) Karnataka d) Madhya Pradesh
2023 39 foat 37931 I & TErl ot e fuzra fifswr /2
a) G b) AIHeT ¢) ITETH d) ¥ yRA
62. Which is the venue of the Asian Games in 2023 ? S,
a) India b) China c)-Indonesia d) Nepal ’1«})’"
2023 &g SHmdt 93t T e fagaT 32
a) 993 b) & c) RE3sHmr d) dus
63. Who among the following is the winner of the best actress award in the Dadasaheb Phalke International
Film Festival Awards 2023 ?
ﬁj’i&ﬁBhan b) Deepika Padukone c¢) Kangana Ranaut d) Vidya Balan
T Afoe esa ficasnas fasy SRdies weaan 2023 Re Aaan wissadi e wrag S Ag 3= 3 ? 10y
a) wEhrde b) Sfiar ueas ¢) e 923 d) fefonr o5 l('_‘l_
% Which was the first Indian movie to win an Oscar in the category of best costume design ? | 31
a) Slumdog Millionaire b) Mother India c¢) Gandhi d) Sholay i
7 3 T O f3ardls & )Et R wAee fi3E ot ufadt a3t fes faadt /it 2
a) ABHIAI fHiBEaEs b) Hed S c) Irat d) ¥ MY
65. The timeless Indian novel “Devdas” was written by : ’5:’__
a) Rabindranath Tagore ¢) Mirza Ghalib &_’_
. b) Bankim Chandra Chatterjee d) Sarat Chandra Chattopadhyay
| A IoH ees ReeH e fafinr famr A
a) gficgagedld b)) HaHdegdcan ) filgararfes d) #I3 IT9 g
66.  Find the missing term (?) in the series : 3, 20, 63, 144, 275, ? i y 3 T pab

sA R PHIE () mae§ 83: 3, 20, 63, 144,275,
a) 354 <69 468 L) 548 554
67. Choose the pair of words from among the given options that will fill the blanks so that the sentence

becomes true and meaningful. is to Cork as Box is to ;
a) Spout-Crate b) Wood-Fight c) Bottle-Lid d) Bottle-Crate A B CD
f&3 I fegmut & e e nFr 88, A Yl 8 § 39 21 3t 3 o9 A w3 weEYTs HE AR | CPa W
FoasaIfRfggan_ §II 19 kK o
4a) FUge-ade b) 3T c) d) 93833 MV 0 7
?L? 68. Choose the odd numeral pair in the following questioy :
QD frafeds Y fé Suar widt Rar g2 N ' Qts T

I !
100, 30 @ d) 80,25 oyw 4

o

a) 140, 45 b) 110, 35 "

9

69. IfE=S5, PEN =35, then PAGE =7 \)
Aag E =5, PEN =35, 3" PAGE =17

(e
a) 27 b) 28 oy Q36 ¥
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72.

73.

74.

75.

76.

|| L7

If Anil says, “Ravi’s mother is the only daughter of my mother”, how is Anil related to Ravi ?
a) Grandfather b) Father ¢) Brother d) None of these

Aaa wiss Jfder I, "It € Ht NSt ot € B3 it A, 3t wifes o g aE &t
2) T, b) fir . ) 39, Af foot (9 A 5t

Raju drives 25 km North and turns left and travels 5 km and reaches point ‘O’. He, then turns right and
covers another S km, Afterwards turns to East and drives 5 km. How much distance (in km) he has to
travel to go back to the starting point ?

Ig 25 s €59 ¥ Fodie ager 3 w3 ¥ yaer I w3 5 fadiites & Hag sge w3 il 'O I
uguer 3 | €9, foT AR yaer 3 w2 99 5 fadiieT e Agd agTr 3 | o Y you €8 yaer I wd s
fadhite 31t gaEer 3 | ggnrst fig 3 Tum Are B8 OR st gt (e fég) 3w agdt w2t -

P-—_S—

_A) 30 b) 20 ¢) 25 d) 35 S

PR
Which two months in a year have the same calendar for the first 30 days ? hny & Pw‘

a) June, Octobey)<  b) April, November  ¢) April, July d) October, December

7S © fao3 © Hatfen 2@ ufgd 30 fest o8 sz i faar derd 2 e
a) g6, Wagsd ) "3, 529 c) s, gue d) weagHg, ereg

Put the correct mathematical signg in the following equation from the given alternatives. —2 %M ¢
2 2 e R 35+ 23 Reg ) Al g e | é/' 3341 Z;‘%ﬂ

332112326=1
* 1
a) +I - X ) X‘ +, = c) +1 xn X L} + —L)

Select a figure fromcamongst the Answer Figures which will continue the same series as established by £%
the five Problem Figures. N

392 Rigar R 0 RiTa 92 % molfimor st @i Ferfurg oish and seft vt | /,;;4/',;
Problem Figures Answer Figures '

—  p—— 3\ =
Ll [EEEE |

A B C D E € ®  (© @

Figures A and B are related in a particular manner. Establish the same relationship between figures C
and D by choosing a figure from amongst the four given alternatives, which would replace the question & &
mark in Fig. (D).

fd39 A W3 B i vA 3913 &8 A3 9% | fE3 e g fJ3a & ¥x fdzg g a fdsa C w3 D fgaa \(\(
AH'S AET AEY3 53, 1 939 (D) e yns fids € &t gar | '\

Problem Figures Answer Figures

YD ? | | PSS

A B ¢ " D ON ® & @ s

N )
Out of the four figures marked (a), (b), (c) and (d), three are similar in a certain manner. Choose the A
figure which is different from the rest.

(), (b), (c) "3 (d) fifs3 vra fIze’ ¥, fHa fia un 3918 & s T6 | @0 (3T B8 N want &8 Sugr b

R Gobu amapd = |0
\&Q/ N 3

IO R A Pl (o

V[ O A \w

(a) (b) (c) (gf

)
fo el \@' o
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”f:f“/ q1- ¢ (sp -22¢ =41

¥
LT P s~ 33 =
If 65b - 33¢ = 97 and 33b3%65c = 1, then be = ? uof";’,‘ ¢ 1h- kS¢C ’?z{
ARSI 65b-33c =973 33b-65c=1,3" be=____ | {2 " |+87 i
2) -3 b) -2 ¢) 3 N )2 4y _

The number (2*® — 1) is exactly divisible by two numbers between 60 and 70. The numbers are : ’b’ 24 9"’

L) /
Hitmr (248 — 1) & 60 w3 70 © fegara € sfumret gwrar Yt 3 M 7 raer 3 | Hfimret 95 - L
a) 63 & 65 b) 63 & 67 ¢) 61 & 65 d) 65& 67
The least number of square tiles required to pave the ceiling of a room 15 m 17 cm long and 9 m 2 cm
broad is: e,
15 ¥eg 17 #dhiea 38 w3 9 ¥ies 2 AdhiicT 83 i & &3 fanrg agg Bt we.aje T

<
SEEGH 9.0
a) 656 b) 738 c) 814 »/d) 902
A car owner buys petrol at ¥ {7, ¥ 19 and ¥ 20 per litre for three consecutive years. Compute the average
cost per litre, if he spends peryear~, _!(.5 )
&3 9 s Barsd s A S T9 ™3 20 guR Y3t Blea Oeds ydtee' 3 | A3 8913 Y3t died } 0
& e 59, T €9 6460 JUR Y AT ¥I9 FIT' T | ' WZ’,_/\.\, ’;‘w}‘; \
a) T18.49 & 21858 ¢) 1920 Mgy 22166 2d 2L f4¢e

The ratio of the ages of a man and his wife is 4 : 3. After 4 years, this ratio will be 9 : 7. If at the time Fyes

of their marriage, the ratio of their ages was 5 : 3, then how many years ago were they married ? cué S
T et w3 GRS USSR GHI T wEUS 4:3 3 | 4 B EME, feg Wgu3 9: 73T | Aae 85 2 28
2 7, GoF & BHT T wigu3 5 : 3 W, 3° S A8 ufust Gai e fenrg Ifenr it 2 43" 24 _H,-———
a) 8 b) 10 2 15 a2t 4

e

Due to a reduction of 6%% in the price of sugar, a man is able to buy 1 kg more for I 120 |r;d the m
original and reduced rate of sugar.

g S ahE Re 619 gt earss, fa et 120 R KT | B ¥ 9 wdeE 2 o 1iE @ :
WHS w3 WeTd I8 € T U3 &I | 2
a) ¥7,38.50 b) ¥ 8,3 7.50 c) 36,3750 d) ¥6,%6.50 I

In a shop, 80% of the articles are sold at a profit of 10% and the remaining at a loss of 40%. What is the ”}
overall profit/loss ? =
¥ g &9, 80% THIW § 10% = &9 W3 ot 40% © wre &g Afonr Aer I T sse R I ? e
a) 10 % profit (3) b) 10% loss (W<) c) 5% loss (W< od) No profit no loss (¥ FF & Wev) g4~
Two partners invested T 125000 and T 85000 respectively in a business. They distribute 60% of the ‘.3/7.
profit equally and decide to distribute the remaining 40% as the interest on their capitals. If one partner

received ¥ 3000 more than the other, the total profit is :
2 It & g 9w &9 gHera T 125000 w3 T 85000 T f52W 37| €9 & € 60% SIHS 3T IS ]
w3 Telt 40% & wruE Ut '3 fonrd = T T SRET 99 U | AaT a Al § gR e T 3000 Fa il ,(5;)
IIBTII: ;'g\ﬁ'ff""

a) @0 b) T 39375 c) 38840 d) T 36575 5\ﬁt
What is the difference between the compound interests on ¥ 5000 for 1 year at 4% per annum

compounded yearly and half yearly ? " Ly
T 5000 '3 AE BE 4% Y3 wue fimfaz w3 fardt i Rgsdtnzgd? A= ?(“%W 2.
a) T2 b) X3 4 dTs L

2 men and 3 boys can do a piece of work in 10 days while 3 men and 2 boys can do the same work in (S0
8 days. In how many days can 2 men and 1 boy do the work ?

16 2wt w3 3873 10 fent ReRfadiag R oa AR X 3 welt w3 2 wea Gt o & foat G =g
Aae I5 | 2 et w3 | sFer fd fost g 6 & aa Wasd ¢
i 1 u\)u.)(.z/ "
a) 12@( b) @( ¢) 223 d) 24 3 '—T£
3 ¥ I M +%(8 = .
/c'J P 13,( A‘Q_‘t prd (o Set-D n QM %28 o Page-13
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87 A man covers a certain distance on a toy train. Had the train moved 4 kmvh t, it would have taken

30 minutes less. If it moved 2 km/hr slower, it would have taken 20 minutes more. Find the distance in
kilometres.

Ramrert i fder S 9t 2 R fomfom g I ser d | g St 4 e P e dudamae.

o7 e 2, 3 fom 30 e e B2 | A o 2 e o 3 0, Mg 0 biede [0S
e | aies R gt a3 | ﬂéﬁ%&“‘"g)‘ﬁ s e,
KT e b) 60 ¢) 68 a’k@%}f){/ 1870

88. A vessel contains a mixture of Grape, Pineapple and Banana juices in the respective ratio of 4 : 6 : 5.

Fifteen litres of this mixture is taken out and 8 litres of grape juice and 2 litres of pineapple juice i3 | e) |
added to the vessel. If the resultant quantity of grape juice is 10 litres less than the resultant quantity of 9
pineapple juice, what was the initial quantity of mixture in the vessel (in litres) ? e

a) 120 b) 150 ¢) 105 d) 135 17
a3 RT4:6: 5 2 wEUS R iy, e w3 33 @ IR  fHrge I fon fimge 4 Ueet dleg & z
aﬂﬁas&a@maw@z&awamﬁmwa|mmemam@ sy
W33 (resultant quantity) W&SH € gH & a3 H3J"(resultant quantity) 3 10 dteg We 3, 3t 373 9 /1)4{?’
fimae & g3t w3 (Biee ffe) st At ?

a) 120 b) 150 c) 105 d) 135

89. Vishwas borrowed a total amount of ¥ 3Q000, part of it on simple interest rate of 12 p.c.p.a. and
remaining on simple interest rate of 10 p.c.p.a. It at the end of 2 years he paid in all ¥ 36480 (6 settle
the loan amount, what was the amount borrowed at 12 p.c.p.a. ?

a) 12000 b) T 16000 c) ¥17500 d) T 18000

fermer & 95 T 30000 <t IaH @ura B4, foH T g9 fIA 12 p.c.p.a. T AOIS v €9 '3 w3 T4t 10

p.cpa AHUTS A Ed 3T | Aa9 2 AS & i3 o GRS odon of gaH T foUea aa6 B T36480 b M Ro

T IASG AT, 312 p.c.p.a 3 EOT TE I8 I &S] 5T

a) 12000 b) ¥ 16000 17500 d) T 18000 LY%<z
90. The cost of fencing a square field @ T 20 per metre is T 10,080. How much will it cost to lay a three

I

A

metre wide pavement along the fencing inside the field @ T 50 per sq. metre ? W
B T3 A3 A TF ZAar@E A B3 @ T 20 YT Hiea 3% 3 | 93 2 e gt 392 FE Hs _2ed
Hiea 37 Feurs @ 50 Ry =au Hiea 2 e o7 Reege et fle e wrar 2 i Yo
a) 37,350 b) ¥ 73,800 c) ¥77,400 d) None of these

91. Choose the correctly spelt word :
a) Consciousness b) expectantily _ Sy adventurus ~d) corraborate ( 8 "f/ {/2— 'Y

92. Choose the sentence in which adjectives are correctly used.
a) She is better than any other girl that studies in our class& f ZU‘" Klex2
b)Y She was not punished though she came latter than I.

¢) In the opinion of everyone she is wiser than beautiful { o

d) It was bitter cold and we preferred not to go out that night. 20 th
93. Select the alternative which best expresses the given sentence in Indirect Speech. = p—

Kiran asked me, “Did you see the cricket match on TV last night ?” L?yw Ve

a) Kiran asked me whether I saw the cricket match on TV the earlier night. X , ?—wi l 9}

b) Kiran asked me whether I have seen the cricket match on TV the last night®

L ¢) Kiran asked me whether I had seen the cricket match on TV the earlier night. t‘ x«‘ 2% l yf
~d) Kiran asked me whether you saw the cricket match on TV the last night. (
P————

94.  Change the VOICE of the given sentence,
He was driving the car so fast that it skidded on the snowy road.

a) The car was driven by him so fast that it skidded on the snowy road. Vv 8 (o
3 b) The car was being driven by him so fast that it skidded on the snowy ro?d a2 Q| Q
b9 *—=¢)~The car had been drfvcn by him so fast that it skidded on the snowy road. %<
Q d) The car has been driven by him so fast that it skidded on the snowy road. 3¢ s ¢ 20
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gs. Fillin the blank, 60)
How dare you to your teachers like this ? —
—a)to talk b) talk ¢) talking d) talked o™ s K
96. Sentence : I made the decision to buy onions on my way to the shops. Q

Which of the following statements best expresses the meaning as found in the sentence ?

a) Because I was going to shops, I decided to buy onions.
While I was going to the shops, I decided to buy onions.

c) AsIwas going to the shops, I decided to buy onions.

d) Since I was going to shops, I decided to buy onions.

97. Fill up the blank with suitable preposition.
Nothing can deter him ursuing his aim of life.
;) fr

a) for om ¢) in d) of
98. Choose the correct meaning of the underlined idiom given in the sentence.
The sight of the accident made my flesh creep.
a) worried me b) frightened me ¢) confused me -y drew my attention
99. Select the most suitable alternative which conveys the exact meaning in accordance with the correct
grammatical rules.
-2 You are not working hard so your success is out of a question. 3

o

(G

b) You are not working hard so your success is out of the question.

c¢) You are not working hard so your success is out of question. -
. . , ; »> 1
‘1 d) You are not working hard so your success is not out of the question < /"1

100.  Choose the one which can be substituted for the given sentence.

/5‘1 The practise of having many wives. g5 K ¥
> a) Bigamy b) Calligraphy N c) Polygamy Polyandry [
o 9" l P T}
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